Imporiant Note : 1.. On completing your answers, compulsorily draw diagoﬁal cross lines on the remainirig blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

210854

Time: 3 hrs.

/Fifth Semester B.E. Degree Examinﬁtimi, Dee 2023/Jan. 202'4

Artificial Intelligence and Machme Leammg
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Note: Answer any FIVE full questtons, choosmg ONE full questton from each module.
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; Module-l -
Identify the Turing test approach to prov1de a satlsfactory operatlonal definition of

Intelligence. * (04 Marks)
Make use of the state space of the vacuum world .and define the components to solve this
problem. (06 Marks)
lustrate the propertle§ and the algorithm for Breadth first search technique. (10 Marks)
Explain the: o cepts of thinking rationally and acting rationally. (04 Marks)
Explain the tree search and graph search algorithms. (06 Marks)

Explain, problem solving agents alongwith the algorithm+and illustrate the incremental

formulation of 8-Queens problem.’ (10 Marks)
Identify the differences between superv1sed and unsuperv1sed learn1ng.~ (04 Marks)
Explain: the types of Big data. - e R = (06 Marks)

Apply A" algonthm to find the best path from Arad to Bucharest [Refer F1g Q3(c)].

A simplified road map of part of Romania.

Arad " 366 Mehadia 241
Bncharosl W [¢] Neamt 234
Craiova " 160 Oradea 5 380
Drobeta 242 Pitestd 100
Eforie 161 Rimnicu Vilcea 193
Fagaras 176 Sibiu 253
Giurgiu ) 77 Timisoara 329
Hirsova 151 Urziceni 80
., Iasi 226 Vaslui 199
“ “Laugoj 244 Zerind 374

Values of hsz n-——-stralght‘lmc distances to BuchatesL

Fig.Q3(c) ‘ | ' (10 Marks)

1of3



OR ; ,
Explaln the machine learnmg process model along with diagram. (06 Marks)
Consider the table given below which contains the machine learning course re g1strat1on done
by both boys ‘and"gitls. Thete are 50 boys and 5t ‘glrl‘é in the class and the registration of the ~
course is given in the table. Apply Chi-square test: ‘and find out whether any differences exist -
between boys and girls for course reglstratlo

(06 Marks)

" Initial State Final State

1 |2 13 |1 (2 |13
4.6l14 5 8 |
7 |5 8 7 8 . .

Fig.Q4(c) (08 Marks)

W Module-3 ’
Consufg the trammg dataset of ‘4 instances shown 1n the table below. Apply Find-S
m to ﬁnd the final hypothesis.
Table 5(a )

b o
arach arifca 0 atin 0

Pt

(06 Marks)

s A w@on&der the student P qrmance trammg”dataset of 8 data instances in the below table.

sify the test instance (61 40 5) to check -

. Table 6(a)

Assessment Project Subrmtted Result |-
85 8 Pass
80 7 Pass
81 8 Pass
45 . .5 - Fail -
50 4 Fail
72 7 Pass
38 5 Fail
91 9 Pass :
4 az Marks)
b. Explain @@rswn space and the candidate elimination algorithm explaining the algorithm
(08 Marks)
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(06 Marks)

positive or COVID negative using the table "g en below.

TabI’e 7(c)

P(hi/T) P(COVID posxtlve)

03 A N

0.1 1 i

02 1

0.1 1 .

' (08 Marks)
“a, OR A
Explain the procedure to construct a decision treeusing ID3 algorithm. (06 Marks) -

Explain Bayes theorem, Maximum A Postenon (MAP) Hypothesis (hmap) and Maximum

Likelihood (ML) Hypothesis (ha). € (06 Marks)

Hlustrate ‘algorithm of Naive Bayes and explain the popular variants of Bayesian

classifie (08 Marks)

: Syiodule-5 - -

Explain the different activation functions used in ANN (06 Marks)

[lustrate the vanous types of Artificial Neural Net (08 Marks)

; (06 Marks)

(08 Marks)

(12, 4) as ;mltlal seeds

Table 10(b) =« :
X- coordmate Y-coordinate . .
4 « R ST
6 o
8
4
2 R
- (12Marks) - ©
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